





































D 33 18 2 64 43
410s 2 58
4

I575

3 15 21 4 64 13
x

5

28

5 5
TEX1 7

2,5 5 7

4 2

34
I 48

Recurring Decimal to Fraction

D 0.435
Let s 0.4353535
1021 4.353535

Revision

Fraction Arithmetic



100021 435.3535

99001 431

31 431

990

2 0.255

Let x 0.257257

100071 257.257257

999,1 257

21 257
999

Prime Factors

84 284
1 244

324
84 2 2 3 7 74

2 170 2
120 2 7 2 34

23 3 5



x
P
Ip

set JI
sik E

P

5
3

Is Is
GE 164 4

273 f 32 9

E E 14 5 3

I Fo
f t 25 2

Negative an fractional Indices

Surds



I 552 652

548 I

16 3 19 3

453 353 53

5 25 3 45

15 615 2053 24

9 1435

Rationalising Dea nine for

Ex 55

Yet E I 453

3

4 55 I x 4 F
4 55



12 35

42 a

12 355
16 5

12 35

857,000 8.57 105

0.00416 4.16 x 10
3

4.2 108 3 109

12.6 10

I 1.26 108
Mutt

9 6 1010 3 105 Div

9.6 1070

F x lot 3.2 10

Standard Form



AddG 2 105 4.3 104

620000
43000 t

663000
6 63 105

4 14 x 10 3.2 x 103 Subtract

341400
3200

38200
3.82 x 104

Brackets

6 2 1 3 461 5

12 18 4 20

801 38

513 2 74 8

15 i to 28 56

43 46



xx 2s 3 3s 5

2712 471 3 6 301 5

End 7s 6 321 5

6
3

21 it 18 x

10,7 3511 30

6 112 1721 30

x 2 x 3 ate

Lite 321 21 4

x to 6 x ta

3 5 i Gx
4 i 20s 24

It 9 2 26 24



Algebraic Fraction

D f t 54 state fatal

521 10 321 17

15

8 22

15

2 5 571 761 1

set
t I x xxi

521 701 7
x sits

12 7

x Siti

3 1 5 6

X e
x

x I

217 621 8

sits

yagna
Xtx f
Xtc



4 t 16

6 8

21 42
sit 2 ate

For a

site COW

Linear Inequality
equ

2x 3 Lil 201 3 11

221 L 11 3 221 11 3

2x C 8 201 8

x z
x E
I 4

x c 4



Gradient of Curve

8 is gradient of
É

Gradient of one

tangent at that point

gradient

Quadratic Grips

V
Gradients of parallel and perpendicular lines

a

Parallel
Same gradient

Perpendicular

th and ta
es

or 4 I



Fin eg of the parallel to

y 3 a passing through 2,7

Line is of form y 3 te

217 7 362 C

7 6 a

7 6 C
I C

A sur y 3 1

Find eqn of perpendicular lie

to y 2 3 passing through 4,8

Lie is of the form
y tx to

4,8 8 44 to

8 2 C

8 2 c

10 C
Answer y Fatio



Ratio

Shae 40 between A a B

in ratio 5

8 shines 40

she tf 5 so 25 if's

Cows Sheep

4 s
Sheep Pig

7 4

Fin ratio cows sleep pigs

cows sheep pigs

4 3
28 21

7 4
21 12

28 21 12



Density Man

Vol

A has density 5g am

B has density 8g on

40g of B are mixed with 4am of A

to make C Fil de city of compound

Deaf Man Vol

A 5gal 205 4am

B 8s in 40g 5am

60g 9cm

De at of Ct Tiff
De sit of C 69 glen

Angles in Polygon



g

ext angle of regular n
sided polygon

FEE
interior 180 exterior

u So of interior angles

1
t

n 2 480

7 For pe toga t 7 80
3 180

540

300 at 60

cos E E E
Sa E Iz E
ta I 1 E

Pythagoras



y

3,45
b 5,12 s

a
t 7 74,7T

at s at 8 15,17

Gin Find s as a sued

7 7 6 s

49 36 x2
85 x

585 a

10 8

is
22 8 102

x 10 82
x2 100 64
x2 36
x 536 6cm


